Ch. 23 Memory Assignment

Reproduce the 6 sets of Perfective (Aorist-stem) Participle Memory Forms 6 times each.

PERFECTIVE (1AOR) ACT (uses TF ca)

Masc (3)

Fem (1)

Neut (3)

Masc (3)

Fem (1)

Neut (3)

nom. sg.

-00g

-0oaoca

-oav

-00g

-0aoca

-oav

gen. sg.

-0QVTOG

-0Q0Ng

-0QVTOG

-0QVTOG

-0a0onNg

-0QVTOG

nom. sg.

gen. sg.

nom. sg.

gen. sg.

nom. sg.

gen. sg.

PERFECTIVE (1AOR) MID (uses TF cq)

Masc (2)

Fem (1)

Neut (2)

Masc (2)

Fem (1)

Neut (2)

nom. sg.

~OQEVOG

-OQIEV)

—OQHEVOV

~OQEVOG

~OQIEV)

—OQHEVOV

gen. sg.

—~OQHEVOU

~OQEVNG

—~OQHEVOU

—~OQHEVOU

~OQEVNG

—~OQHEVOU

nom. sg.

gen. sg.

nom. sg.

gen. sg.

nom. sg.

gen. sg.
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PERFECTIVE (1AOR) PASS (uses TF O¢)

Masc (3)

Fem (1)

Neut (3)

Masc (3)

Fem (1)

Neut (3)

nom. sg.

-Berc

-Ber0a

-Bev

-Berc

-Ber0a

-Bev

gen. sg.

-Bevroc

-Beronc

-Bevtoc

-Bevtoc

-Beronc

-Bevtoc

nom. sg.

gen. sg.

nom. sg.

gen. sg.

nom. sg.

gen. sg.

PERFECTIVE (2AOR) ACT (uses CV instead of a TF)

Masc (3)

Fem (1)

Neut (3)

Masc (3)

Fem (1)

Neut (3)

nom. sg.

-V

-ouoa

-0V

-V

-ouoa

gen. sg.

-OVTOG

-ouong

-OVTOG

-OVTOG

-ouong

-OVTOG

nom. sg.

gen. sg.

nom. sg.

gen. sg.

nom. sg.

gen. sg.
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PERFECTIVE (2AOR) MID (uses CV instead of a TF)

Masc (2)

Fem (1)

Neut (2)

Masc (2)

Fem (1)

Neut (2)

nom. sg.

~OHEVOG

~OJEVT)

~OHEVOV

~OEVOG

~OJEVT

~OHEVOV

gen. sg.

~OHIEVOU

~OHEVNG

~O}IEVOU

~O}IEVOU

~OHEVNG

~OIEVOU

nom. sg.

gen. sg.

nom. sg.

gen. sg.

nom. sg.

gen. sg.

PERFECTIVE (2AOR) PASS (uses TF ¢ instead of O¢)

Masc (3)

Fem (1)

Neut (3)

Masc (3)

Fem (1)

Neut (3)

nom. sg.

-€1G

—-E10QA

—-EV

-€1G

—-E10QA

—-EV

gen. sg.

-EVTOG

-€10MG

-EVTOG

-EVTOG

-€10MG

-EVTOG

nom. sg.

gen. sg.

nom. sg.

gen. sg.

nom. sg.

gen. sg.
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